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TCS Placement Paper of Aptitude Delhi 2009:

1. The centre of a storm shifts 22.5 miles in 1 hour.  At the same rate what time will it take to move 60 miles?

Ans:  2 2/3 hours

2. A 3 gallon mixture contains one part S and two parts R. In order to change it to mixture containing 25% S, how much R should be added?

Ans: 1 gallon

3.  A tree grows only 3/5 as fast as the one beside it.  In four years the combined growth of the two trees is eight feet.  How much does the shorter tree grow in two years

Ans:  Less than 2 feet

4.  An ocean liner L miles from port steams toward port at 11 miles per hour.  Another ship leaves the same port and steams toward the ocean liner at 1 miles per hour.  How many miles away from the port will they meet?

Ans:  Between I and J, closer to J

5. There are 150 weights .Some are 1 kg weights and some are 2 kg weights. The sum of the weights is 260.What is the number of 1kg weights?

Ans. 40

6. A moves 3 kms east from his starting point . He then travels 5 kms north. From that point he moves 8 kms to the east. How far is A from his starting point?

Ans. 13 kms

7. The sum of the digits of a two digit number is 8. When 18 is added to the number, the digits are reversed. Find the number?

Ans. 35

8. The cost of one pencil, two pens and four erasers is Rs.22 while the cost of five pencils, four pens and two erasers is Rs.32.How much will three pencils, three pens and three erasers cost?

Ans. 27

9. Fathers age is 5 times his son’s age. 4 years back the father was 9 times older than son. Find the fathers’ present age.

Ans. 40 years

10. What number should be added to or subtracted from each term of the ratio 17 : 24 so that it becomes equal to 1 : 2.

Ans. 10 should be subtracted

11. What is the 12th term of the series 2, 5, 8…

Ans. 35

12. If 20 men take 15 days to to complete a job, in how many days can 25 men finish that work?

Ans. 12 days

13. In a fraction, if 1 is added to both the numerator at the denominator, the fraction becomes 1/2. If numerator is subtracted from the denominator, the fraction becomes 3/4. Find the fraction.

Ans. 3/7

14. If Rs.1260 is divided between between A, B and C in the ratio 2:3:4, what is C’s share?

Ans. Rs. 560

15. A shopkeeper bought a watch for Rs.400 and sold it for Rs.500.What is his profit percentage?

Ans. 25%

16. What percent of 60 is 12?

Ans. 20%

17. Hansie made the following amounts in seven games of cricket in India: Rs.10, Rs.15, Rs.21, Rs.12, Rs.18, Rs.19 and Rs.17 (all figures in crores of course). Find his average earnings.

Ans. Rs.16 crore

18. A 3-gallon mixture contains one part S and two parts R. In order to change it to a mixture containing 25% S, how much R should be added?

(a) 1/2 gallon

(b) 2/3 gallon

(c) 3/4 gallon

(d) 1 gallon

(e) 1 1/2 gallon

19. If A is traveling at 72 km per hour on a highway. B is traveling at a speed of 25 meters per second on a highway. What is the difference in their speeds in meters per second?

(a) 1/2 m/sec

(b) 1 m/sec

(c) 1 1/2 m/sec

(d) 2 m/sec

(e) 3 m/sec

20. A salesperson by mistake multiplied a number and got the answer as 3, instead of dividing the number by 3. What is the answer he should have actually got?

(a) 0

(b) 1/3

(c) 1

(d) 2

(e) 3


